
Group: 10LD

Engine: 10LD 400-2   Drawing: A

INTAKE AND EXHAUST

POS. CODE DESCRIPTION Qty

  1 3617.223 clamp 1

  2 «–––––» AIR CLEANER - see Pos. A 2a 0

  2a 3700.329 AIR CLEANER 1

  3 3240.018 nut M 8 3

  4 7565.007 washer diam. 8 3

  5 6780.049 intake stud M 8 X 20 (36) 1

  6 2100.055 preheating glow plug 12V (M 22 X 1,5) 1

  7 4670.027 copper gasket 1

  8 2486.312 inlet manifold 1

  9 4420.019 eXhaust manif.gasket 2

 11 3240.163 nut M  8 4

 12 6727.022 cyclonic prefilter 1

 13 4776.032 gasket   h= 7  diam. 154 1

 14 1261.073 seal ring  diam.  62,5 1

 14a 3525.080 spacer 1

 15 4776.062 gasket 1

 16 1770.039 bolt M 8 X 1,25 X 28 2

 17 4420.020 inlet manifold gasket 2

 18 7565.007 washer diam. 8 4

 19 3240.018 nut M 8 4

 20 2486.028 eXhaust manifold 1

 21 4500.079 eXhaust gasket 1

 22 5460.248 muffler 1

 23 9170.050 muffler end  (d.43,5/42) 1

 24 4115.048 hook 2

 25 5496.077 filtering element 1

 25a 5496.075 filtering element for air cleaner Pos. A 2a 1

 26 «–––––» see Pos. 2 0

 27 7300.091 connection 1

 28 4670.014 copper gasket diam.12 1

 29 9400.058 suction line mm  250X8 1

 31 3240.163 nut M  8 2

 32 6780.005 stud M 8 X 18 (30) 2

 33 3240.018 nut M 8 1

 34 1770.005 bolt M 8 X 1,25 X 22 1

 35 5496.193 filtering element 1

printed by LOMBARDINI:   11/08/2010  -      1



Engine: 10LD 400-2  Drawing: A

printed by LOMBARDINI:   11/08/2010


